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By the haircut of 7wybx 13, etc. — 9912 TRWYRN 32 Pw NIDoN2

OVERVIEW

The X 13 reconciles (in two ways) the ruling of 9"2™ (that if one began to eat
after 7m1n 71, he must interrupt his meal to daven 1) and our 7wn (which
states that if one began eating he is not required to interrupt his meal). Both
answers agree that our mwn is discussing 72173 1m1n (and therefore 172°nnn ox
1PO0On PR), while "2 is discussing mvp 7man, and therefore 172°nnn oX
7?2091, The first answer (stated anonymously) is that our 71wn discusses the
prohibition against eating 72173 772 M0 in regards to a 77 77WO (and
similarly the other prohibitions are regarding activities which require much
time to complete), The second answer (by 2p¥> 72 XnX 27) is that the
prohibitions our 71wn is discussing are even for activities which usually take
minimal time (like a 7vP 77WO) but nevertheless it is MOXR because we are
concerned that it may evolve into a longer than expected activity. The
difference between these two answers is whether one is permitted to begin a
limited activity (such as a mwp 77W0) at the time of 72173 73, Our MOOIN
rules on this issue.

—>nban yat 19 N9 ANIA 2NIvP NTIYD 29 'XNaYH 2911 AN
It is the view of m»on that this is the ruling, and one is permitted to

begin eating a small meal at the time of 79173 ;7m3% until the time of 7%2n -
— 9N NN NNIYDI PRIV PODIN NIV 1PN NPT NTIYD RPN

And the prohibition (of the 71wn) is limited to a large meal specifically,

for instance a wedding feast or a 779°% n°12 meal; one may not begin these

meals even 772172 7nIn% TM0, but not a 7ILP VO -
— N9Y1) ANNY TND NIVP NTIYD IIPON YONT APY? 92 NNAN 299 XN

And the ruling is not as °''289 who prohibits even beginning a small meal

immediately before 579173 173%, but rather a 73vp 7TWO is permitted 72173 AMIAY TM0-
—*orun v 0N 8D NIYYY NaYNT

' mooIn accepts the first answer of the X713 as the correct one 7975.

2 See 7"mn that a 71vp ATYO is TN 5> nTwo.

? See 0" that it means (one is permitted to begin a 7P ATWO during 79173 AMM and continue eating up
to) mvp . The X"sw however maintains that N190IN means he may continue eating his 71vp 770 until
there is only 7man 925072 Ninw.

* The first answer in our X3 has no name associated with it; indicating it has the approval of *wX 21.
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For the ruling is according to the first answer which the X9n3 stated

anonymously -
— APy’ 92 NAN 29 22)Y NP9 XNAHMY 07U NN 90 ININA NINY SYUN 2

And "wX 239, who was from the latter o°X72R, edited the 2'"w and we
follow his ruling as opposed to >''ax".

mMooIN anticipates a possible proof to his ruling and rejects it:
— 17 15NNN SIIRMD "NPY IMNT INNPNY

And from that which the X723 later states, ‘when is the beginning of a

case’ -
— NNN 295 N9 an noNNa N 1PNNINNT YNy PN

One cannot prove that our 7w» is discussing }°7 n»nn, which is not like

X''" (who maintains that the M0°X is even regarding 17 7n3); this is not sufficient proof -
— 155091 PPN 199NNN ORN INDT 919905 NIONT

For one can say that the X3 there is referencing that which the mwn

states; if they started they are not required to interrupt (but they were not
referencing the initial prohibition for that applies even for "7 7n3).

In summation; one may begin a 72173 Mm% 0 7w 77Wo and all other similar activities
such as a regular haircut, 17 773, etc.
— P09 %93nnn o) MVP NPV IPIAN NON NIVP NNINIY TIND M

However if it is 77aup mma® 0 then even a small 7790 is forbidden, and
if ¥o°rnm7 they have to be paosn.

mooIn questions this last ruling:
— 9D )2 YWIN? 2297 IND N D”/YNT 21 DY IN)

And even though that our X223 [were it not for the ruling of 5''29] -

> The anonymous answer is (also) the view of *wX 21 (since he stated it anonymously), who is a 77%7na and
we follow his ruling as opposed to *"2ax".

® In the X"w (and others) the X072 is "&nn1' instead of "Y'

TR,

¥ Our mwn ruled that the 0°17 may not sit down to a 7N 17 if it 7MY 7m0, The X3 asks when 17 nonnn
is. According to *"ax1 the 70X to sit for a N">7 is even 17 M3, the fact that the X3 asks when is 77 nonnn
indicates that the prohibition of our mwn is only regarding 17 n2nn: (which usually takes a long time) but
not for 7 3 (which takes a relatively short time). This seemingly refutes the ruling of >"ax" that even =13
"7 is MR 7o oK. See ‘Appendix’.

? The X wants to know at which point is it considered that they began the n"*7 so that they are not
required to interrupt it for 7man n2on.

" However if a 730 "TIWO began before 71vp MINY M0 then 1°P°00n TR, provided there is time remaining to
daven 7nIn (see OnIaK *10).
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— PPIUON PR IPNNN BN NIVP NNMNY THIDI NIV NNYDA NY P NN
Would have established our m1wn by a muwp 177wo and regarding eating it
mavp man® 7o and the ruling would have been that PP o572 1K 29707 2K -

— (a,na mava) T ANYN NYAN D93 TNINTI 5 12 YUIN? 395 19 NP N9
And since we do not establish the ruling according to %''2" as the X3
states in "MW N9ON PRD, so therefore we can establish the mwn by mwp amm and

m1vp 77Wo, where the ruling will be P2 nnn PR but if P05 1R 12100 -
— 91 D7YN AN PUNT 11 OIPN Yan

Nevertheless since the X923 anonymously concludes in this manner (that
we do reconcile the mwn with 9"27) -
— PN Y N1IP PPV 1PNNN ONT NNAT ¥IUN

This indicates that in this ruling of 5"2>9, which is that even if they began,

they are required to interrupt, we do follow his ruling by mvp anmn -
SPIND 1Y RIP XY 11999 199N DIYVY NONT 9INT NN NPT

And only specifically in regards to the ruling which he said that it is

forbidden to taste even fruits, that we do not follow his ruling. However
we do follow his ruling that PR°05» Y2107 X even by a mIvp AW if it is 7I0P AN N0,

SUMMARY

A mvp nTwo is permitted 77173 7n3R% M0 and 1°R°05R PR 12°1NT OX until the
13 727 is about to be over. 7IvP ANIRY TIN0 a MV ITIWO is MOR and P 0ON
even if 12°1017.

THINKING IT OVER

mooIn argues that since 9"2°75 "p XY then perhaps by a 7m0 mivp A7W0
mavp nnanY the ruling should be 1Ppo0on PR %107 oXk (for we can interpret the
mwn by mwvp ann). Why does not moon (also) argue that we should be
permitted to begin a '*7,Tx ammb Mo AT ATWO (since the mawn is
discussing (only) m10p amn)?!

APPENDIX"

mooIN initially attempted to prove from the X713 which asked nonnn "nnoRn
77, that we do not follow the opinion of *"2 X"9 (that even 17 7723 1s MoK if it
is 72173 AMIn% 7IM0), but rather only 17 NonNT is MoK as the 0"w7 RXnno. Then

'" The X3 there issued a statement that 5"2>13 Y21 Xn2%7 0%, referring to this ruling of 13 yaiw 112
' See w"x77 mvoN.
" See footnote # 8.
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mooin refuted this proof, saying that it is possible that the question N1 Xn
"7 nonnn is referring (not to the MK of 151 2w XY, but rather) to the 7077 of
1PO0ON PR 121N oXY. It seems that even according to the refutation of m»oIn
(and certainly according to the initial ‘proof’ of nm®oown that) it is not
necessary to assume that the question of 121 °nn°Xn is referring exclusively to
TR0on PR

The following are some of the difficulties in understanding n1doIN:

1. It seems that all the questions of *n» Xn (including 79°5% ,n7190N, etc.) are
referring to P05 PR as "0 clearly states nonna ke 1"73," and as
common sense would indicate. The question nOON N%rN7 n°RA and the
subsequent answer of "21 nNMdYN MIWn (seemingly) has meaning only
regarding 1°P°05n X (once the nMoy» was placed), but what relevance can it
have regarding the initial M10°X?! One is not permitted to sit before the barber
7man? o period! If he already has the nM9y» on him, then the rule of "X
1P°0on applies, but it seemingly has no relevance to 2w° X>. Why then did
Moo initially assume that "7 n2rn7 *naoKn is referring to the initial Mo°x?1'°

2. In addition, according to °"ax7 that "7 means 7’7 723 how are we to
understand the X3 there "7 NonNa *N°RM (meaning 1°7 723 so that 12°nn7 o
P01 T'R), and the X% answers 11°7 %92 1N Wwn, this seemingly cannot be
referring to '’ 7 ma.

3. Furthermore what is the proof from the X773 which states 17 n2nni "nnoKn,
for according to *"ax" one is (certainly) not permitted to sit in a n">7 at n>nn;7
17; therefore the X113 explains when that begins."®

' See end of footnote # 22.

15 See 7"mn that *po 121 Y N9ANT WO 13 17091 TR 12NN DX DNWN.

'® See mmnn M. We can perhaps answer this that if when 7manb 7m0 arrived, the nmoyn was already placed
on him (before nmn% 71md) then he may 771037 proceed with the haircut. However if the n11ovn was not
placed on him when it became 7m11% 0 then he is not permitted to begin the haircut (see X"27 nwn in
7 MR "Yp R R"wnn). See end of footnote # 22 why even Xipon? that 17 nPnnn CnnRn may not be
referring to 1°p°091 PR 12°1IN7 OX.

7 See 0"an who answers that (since the 10X of beginning a ammb> md 17 m3 is) if they are not
continuing the n">7 from before on that day (for then it would be 701 since 1°p°097 X [see footnote # 22]),
therefore one may assume that the 1°°7 *2¥2 repeat their claims before the 0°17 issue their ruling, that it
why the X713 asks "7 NN "NRA.

'8 According to footnote # 16 the answer is obvious for even if one began the 17 nnni before fmn? TM0;
one may still not continue the 7m3% 710 17 because even 17 13 is forbidden amn% Tmo. See footnote # 19.
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X"wamn explains that all the nonni *na*Xn refer to both the MR of 2w &Y
and the an°7 of Ppoon PR, therefore MdOIN initially assumed that nnoX~?
"7 nnna is also referring to the MoK, but according to °"ax" that the MOX is
even 1’7 32 how can the X3 say 117 *%v2 wmnown which is not 7 .20
Therefore M»doIn responded that according to °"ax7 the question (and
answer) regarding "7 Nonna Ky is only in regard to the *'ann of X
PPooon. >

" See footnote # 16. This answers question # 1.

%0 Even though >"ax" agrees that the Mo°X applies to 17 n2nn7 as well, nevertheless (if we are discussing the
M0°K), it is illogical to assume that the X3 will mention the 110°X on "7 nonna (which is less of a w17°n),
rather than 7°7 3 (which is a greater w17°r). This answers question # 3.

2 Regarding the 7077 the greater w17°17 is (not PRP°0on X if they started the 17 73, but rather) that even if
they (only) started the "7 n2nn, nevertheless 1°p°097 PX. [We do not need the answer of the 0" footnote #
17.] This answers question # 2.

** According to this X"wn they may not begin the 17 a3 if it is 3"% 7m0 (assuming they were not
involved in this n">7 before 79173 7m1n). If they began the n">7 (even 1°7 n%nn) even after 72172 nn the rule
is 7po0an 7K. However miooin writes regarding his answer that (merely) 12°n% XX, indicating that this may
not be so, and 1°poon PR 12107 a1 refers only to 1°7 7n3, however by "7 n2nn then 1°p°091 even if ¥2°1n7. See
footnote # 14.
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